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) rna 7
Whieh s thie Seate 1'.||1|L:|| of Haryi

(11 Blawani

(2 Panipat
(4 Sompat
t4) Chandigarh

(5 Not attempted

Nar Narnyuna cave is situated in wh ich district

of Harvana ?
(1

(2)

Sonipat
Yamunanagar

(31 Kurukshetra

(4} Bhiwani
(6)  Not altempted

During roiny season, which river becomes the

mujor  cause  of floods in Ambala  and
Kurubkshetra districts of the State ?

(1} Hakra River

(21 Murkanda River

(31 Rakshi Hiver

(4 Tangri Hiver

5 Not attempred

Which State lies to the South-West of Haryana ?

(1" Hajasthan

(2} Uttar Pradesh
(3 Punjab

(4)  Uttarakhand
(51 ( Not attempred

Decnbandhu Chhoty Ram Power Plant js located
in the district of

(1)  Hisar

(2} Yamung nagar
(3)  Sirsa

(4} Panipat
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(2) =) sy o
(3 m“ﬂ’*’ﬁfﬁfﬁx@
@) =l sy
(5) I E Z ey

7. mﬂﬁ?ﬁﬂﬁmmmﬂmm
=@
(1) ¥eme ¥R arezrefi
(2) =
(3 ®q
(4) wrEw W
(5) 3= T =9mA

B.  mma W wiwmm w1
(1) wftam
(2) Ffam
(3) =guwEs
(4) a dhka
(5) I 7 E1 =M

9. Fﬁwﬁmﬁm%mwﬁmwg?
(1) Trgatt 6 w=h=,-
(2) =fig
(3) ==l %M
(4) ForI gt
(5) IR T8 T TEd

FE TR |

10, Fresfiian 3 & v sharom 4wl i

"R , 31 3o 1 s e o 2
(1) = !

7.

10.

Who is the founder of Bhakra Dam Project 7

(1) Choudhary Chhiotu Ram
(21 Choudhary Bansi Lal

3y Choudhary Ranbir Singh Hooda

(4) Choudhary Bhajan Lal

(6) Not attempted

The Third Battle of Panipat took place between
the Maratha rulers and

{13  Ahmad Shah Abdali

{2) DBabur

(3) Hemu

(4) Mohammad Ghori

(5) Not attempted

In the Mahabharata, Haryana has been called

(1)  Huaridham

(2)  Krishidham
(3)  Bahudhanyaka
(4)  Java Sambhita
(5)  Not attempted

What is a Phargal/Fargal in the traditional attire
of Haryana ?

(1} Infant's shirt

(2) Shirt

(3)  Children’s cap

(4)  Fulkari odhani

(6) Not attempted

Which of the fn"nWing is a traditional costume

for women in Haryana, which is given to a bride
at the time of marringe ?

) #g_— (1) Lahariya
i h
@ (2) Dimae
(1) wife (3) Gumali
(5) I 37 (4) :.Tind.ti:'n
_-_"—l—.____‘__-__ -
Ammcquagea (5) ol nttempted
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Which among the following was the Theme State
in the 34" Surajkund International Crafts Mela
(20200, Faridabad ?

(1) Himachal Pradesh
2} Rajasthan

(0 Uttar Pradesh

4 Punjab

(H)

Not attempted

Where in Haryana is the flying training centre,

“Haryann Institute of Civil Aviation” (HICA) set
up ?

(1) Gurugram
(2] Pinjore
(3)  Bhiwani
(4} Rahtak
(5

Not attempted

Harvinder Singh, a sportspe

rson from Haryana,
belongs to which sport 7

(1) Shooting

(2}  Discus Throw
(3)  Hockey

4V Archery

15)

Not attempted

Where is the Chinkara

Breeding Center located
in Haryang 7 '

(1 Morni, Panchkula
2)  Pipli, Kurukshetra
(3 Ilisar

4} Kairy, Bhiwani

(6)

Not attempted

Which year was declared as the “Girl Chily Year"
in Haryana ?

(1) 2006
(2) 2p14
(3 20186
(1) 1994
(6} Not attempted

11, faefafiga & & o000 # wpifr 348 FEAEE ST 11,
foen den, whierar an ot @e ARam @ ?
(1 e vz
(2} AR
(3 37 wzn
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(5 37 91 3 s
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13. wiamn & faerd wfim fm G g @ ten | 1a,
®7
(n wfm —
(2) feewm
13) wrER
(4) R .
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14. ﬁwnm%atfmﬁmﬁaag? 14,
(1) I, T
(2) e, Feim
(3) Trmm
(4) %=, farfi
(5) I TE BN wE
15. #frarm d Frm @l @ “Sfirgy g ad” d@ifm fen s
™ 7
(1) 2006
(2) 2014 -
@ 2016 v
(4) 1994
(5) I Al g wEA
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Centrie

£21
Care Contre (VCC), established ?
(1) 2001 .
- (1) 2001
@ 2011 o
(3) 2007 (3y 2007
4) 2016 () 2016

{(f) Notal tempted

In which year was the number of seats in the
Harvana Vidhan Sabha inereased to 90 7

17. Waﬂﬁm&r{mm;ﬁ#ﬁﬁmﬁlm
=T 90 oy a7

(1) 2008 (1) 2008
(2) 1966 (2) 1966
(3 1977 (3) 1977
(4) 2001 (4) 2001

(5) I TH 91 9rEd (5) Not attempted

18. WIEE T F Iew@ @ wfEmm uem i fEe wmi

18. Haryana State is divided into how many
divisions for administrative revenue purposes 7

4 gl T2 ?
1 3 i
& 8 (2) 8
(3 5
@ 5 v~ 4) 6
40 6 (5) Not attempted
(5) e AH ZAT =IEA
19. The Mahabharata war took place in which region
19. WEMWA % g e & R &g 0 gsn @ 7 of Haryana ?
(1) THEF (1) Kurukshetra
(2) 9T {2y Panipat
His
@ f (31 lhi.]..r
i (4) Jhajjar
) =R (5) Not attempted

(6) I A# &1 =mEd

| . |20. As per the Census of India 20 g T
20. widrg SR 2011 % wAER, wAEen A g | in 2011, Haryana is the

largest state of India in terms of

S W W i population.
Ll m L (1) eighteenth
(2) vggal (2) fifteenth
(@) arceat | : (3) eleventh
(4) =eat (4) tenth
— (&) I ¥ o A (5) Not attempted
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" : 21, The meaning of the Harvanvi
. s eqe” 1 o X o Aryanvi proverh, “Tawlp g
21, wfuE sy “maen # 9@ 3 1 Bawla” (A& | #1a=) is 26
(1) =] i i s A6
¥ 7 SR () Selfish people do not care for others
(2) TR wrh  faa '
IAE 3 RS e (2)  The hasty person’s discretion becomes 46
(3) wrerpt @l @ el CRRL : . . o 1
N | : (3)  Doing un unimportant work in the ahsence
N “ s of an important work.
(4) aﬁagﬁmqﬂﬁaﬁﬂma_“
T — ?7!';.“3 ¢ (4)  Evil spreads faster than good.
! (5)  Not attempted
22, fFrsfafan @ 2 figame) 3 Tpwsd @d 2018 §
; 5’1 H 3 fEn 4 22, Which of the following sportspersons won the
F7l § iy 52w ftm 2 bronze medal in Wrestling in the Commonwealth
(1) faom s Games 2018 ?
(2) Ot a9 (1) Vinesh Phogat 27.
() =& wmTE = (2} Yogeshwar Dutt
4)  Tiffw gz (3)  Babita Phogat
(5) 3 5F7 27 = (4)  Geetika Jakhar |
. . (5)  Not attempted
2. s & wdlin P faenfid § & femy ’ (
2020 S § T Tom y e 0 23. Among the [ollowing players from Haryana, {
. il who won the gold medal in Tokyo 2020 (z
T SR Paralympics ? ¢
(2) w7 (1) Ravi Kumar Dahiya 28. Fi
(3) = tr'hm (2} Sunita Sharma fo
(4) :ﬂﬁa L (3)  Sakshi Malik He
(5) 37 7 #9 9wy (4)  Sumit Antil (1
24. wamm § waw g 3 £ 3qR S N — (5) Not attempted
&7 7 24. Who was the first person to be bestowed with the i
(1) =3 92 g title of the State Poct in Haryang ? 3
(2) uré g (1) Kavi Chand Bardai ”
(3) IWUAER L (2)  Bhai Parmanand S
(4) i wafi I o (3)  Uday Bhanu Hans 8
(5) AT T T e () Shri Khushi Ram Sharma !

) (5)  Not attempted . Choo
of, Al H WUH FEF ‘§irs’ ) mmm few w9 H S mean
20 25. The very first verse of the Gj : z

( 1;' RECE ‘Kurukshetra' ns 2 describes Histe
B (1) Yudhkshetra (place of war) 1 s
2)  Dharmkshetra (place of = %
- of rightegys
(3) frmia ) Shikshakshetra (place oo @
(4) TUEd 4) Ra O learning)
X . nkshetra (place of battle) )
(5) I A€ G e (5)_Not attempteq (B} No
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26 100511 the correct alternative to improve the |s _
underlined  part  of the sentene ’ 10|80, Pick out the correctly spelt word.
i : F ’ e, f . .
1improvement 1s rp;luin.d‘ your answer is (4). nia i1 .mm;wul;llulf
In this jel age, ev - (21 inmaculate
: Be, evervone 1s interes i ;
an easy life. erested in having (1) immacculate
(1Y had easy life (41  imaculnte
(i) Not attempted
(2)  for have an easy life i 0 I
] 21 = - .
(3)  to having casily life 31. Pick out the wrongly spelt word.
(4)  Noimprovement “~ (1) preference 7
() Not l‘ttl‘.cmpted (21 difference =
. (1) perfurmenccv"
27. Fill in the blank with the suitable preposition. (4)  reference >
He boasted his riches. (5) Not attempted
(1) of
‘ L 92.  Pick out the antonym of the underlined word in
(2) with ; kit
the following skntence,
(3)  about I saw her sitting motionless in her chair and
(4) at gazing at the door.
(5) Not attempted (1 lazily ~ e
(2) bending
98. Find out the correct indirect speech form of the (3) negatively *
following sentence. - (4)  lively
He said to her, “You cannot see the chairman.” {5) Not attempted
3 h 3
(1) He . told her that he cannot see the 33. Pick out the synonym of the underlined word in
chairman, L
the [ollowing sentence.
(2) He told her that you could. not see the I cannot rest from travel; T will drink life to the
chairman. lees.
(3) She was refused to see the chairman. (1) encourage
J}} He told her that she could not_see_the (2) pgiveup "
chairman. (3) accept
(5 Not attempted (4) join
(5) Not attempted
29. Choose the word which i opposite in the
meaning of the underlined word : g4. Fillinthe blank with the suitable allernative.
HEiiEtDrJ' n!}n'l.l..l."lds :" jnstﬂnces ﬁfEOHrBEE-" Ele wa]]tf-'d in thc W}D]_
-——" r - -
(1)  suffices (1) RIS
@) (2) swim
lacks (.~ (3) to swim~"
(3)  shines (4) to swims
@) failures (5) Notattempled
5y N _—
~— % Not attempted _,/’,Gﬁanx
FOR ROU
AVRAC4/Page 7 i
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35, In this question, there 18 8
six sentences. The
are given in the beginning

Sg respectively.

L ] ]r t "
h'..‘.n jll!nh]l"l’i UP Thp_l.;[‘ nre Iﬂ]]il"lll s I i .i I]-iu
S. You are required to find the proper order lor

the four sentences.
Sy He tried the door.
Sz He was careful not to touch anything,
iP. The room was neat nnd clean.
Q. Then he stepped into the room.

L,R. He waited for a minute or two. @

S.  Itopened easily and he peeped in.
{1) QSPR

(2) RPQS

(3) SPRQ .~

(4) PQRS

() Not attempted
36. Choose the correct active voice
following sentenes : -
Sharan was being taught by Anil.

(1) Anil was teaching Sharan, L—

passage consisting of
first and the gixth sentences
irs :

1 labelled a5 Sy and

The middle four sentences have

form of the

Head  the following  passage and answer questions
I8, 9 and 40,

If 1 had been asked in my early youth whether |
preferred to have dealings only with men or ‘_'“11" with
books, my answer would certainly have been in favoyr
uf books, In later years this has become less and less,
Not that [ have had so much better experiences with
men than with books. On the contrary delightful books
even now come my way more often than purely
delightful men. But the many bad experiences with

men have nourished the meadow of my life as the
noblest hook could nat do.

38.  Which one of the following statements best

reflects the main argument of the passage 7

(1) There are more purely delightful men than

purely delightful books. =

It is the experience with other human
beings that nourishes one's life and not
necessarily books, —

(2

{3} Neither men nor books give any worthwhile
cxperience,

(4)  Books are always better than meni®”

(5)  Nol attempted

(2 Anil s teaching Sharag, 39. The aut-hu'r says that in later years his love of
‘ books diminished becaugse
(3)  Anil had taught Sharan. ( . §
) _ . (1) he had better experiences with men (han
(4} Sharan is teaching Anil. with boolks, o>
(8) Not attempted (2} he had given up the hahit of reading books,
37.  Pick out the part of the sentence which has an (3)  even the bad experiences he had with men
error. IT there is g BITOr, your answer is (4). were more valuable than what the noblest
Some men are born grea;. books could give.
_____A—_'_‘——-'—- (4 he did not get many delightful books to
some achieve greatn o
- alne
B____S?o____nnd (5)  Not attempted
some had greatness thrust upon them, 40. Which one of the pairs ﬂf-phrm;ea best helps tq
_— T tpntm, bring out the metaphorieal meaning of 4,
C ‘meadow of my life’ ?
(n C e (1) Vast and rich life
(2) A (2)  Well-nourished but dul] lifs
3 B

(4) Noerror
(5) Not attempted

(3) Poor but simple life
(4)  Pure and heallhylifew
(5)  Not attempted
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45.

486.

47,

48,

Spgda we Fan fwfadme @ st p o
(1 e faon-fagmm

(9) e fam-famm

@) wega fg-fEarm

(4) g frm-fagmm

(5) 30 7@ 21 =TEA

‘e 1w an, fEes g’ drmits @ 3faa

FB?

(1) T & weh & fom Sfm v A g s
v

(21 3l 95 I AR T 2

(3) T & @ frard 7 7w

() strer i Hn ) A e 3 T 2w

(F) I AF 241 =

P e aeyd TR 7
(1) #fH

(2) @F

(3 WL

(4) T

(5) T T N TR

anfie 39ET A TR A A R
() @ o
(2) =M

-

(3) 94

@ @
(5) I TR
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49, From frm fawes @ ggn @ 2 52, ‘@ W= @ VAA T T R
: (1) |
(1w -
@) TEN A
(2) vErEf) -
(3 fam
3 = 3 X
3y = e
CINE . DN R .

(5) 3= 9 T 91
83. ‘sfoqw W= & foru 3fam amwmim =1 www i |
(1) W= &1 F7a%0 § =0

50. w91 7fiz & whvw Ry snm 2 (2) gl &1 gz

(3)  sFENEn i vafed g

(1) w4 %2 =7tz
M T S st s v @

(2) ¥ +37 = 3=

(5) T T 0 ey
(3) ﬂﬁ+mﬂ=mﬁﬁiﬂﬁy
4) v +dm = vy P Wﬁmﬁﬁqﬁw#mﬂawmﬁm
HTH R 9 o

(5 ; ik
) I I M 3 % 9 - sy
(2) aﬂﬁrﬁﬂn&:mﬁ_ﬁu

Bl & Fufy _ o
51. ‘mgEn RN

E Hmmﬂql’m%ﬁiﬁ @) 50 ol sy _ oz g2
(il o = — N
HI I T waifys: yogw em = (5) 3T 7 2y wrey
g |
(1) s i :mﬁmm T ST 2 | A
ﬂﬂiﬁﬁﬁiﬁﬂqﬂ-&.ﬂaﬁr;ﬁ‘g' ,
i
(2) @ g | L
) e
(3 Fiw (2) > |
T
(4) e @ e
4) mey
(6) I T 3 ey B)  IM 7 & v
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5. AT § ueH aTef) U zupfly wg o aieensi

ﬂﬁﬂ‘ﬁ“ﬁﬁwwnpﬂ.nglm,,,,_m B w
7 wftemd st & st 1y qen an ° waw @i § | o
geul 3R nfkenait € wen woe @ | e A aw
ﬁ-‘rﬁm‘:ﬁmmu. X

(4} 36
g, 94 Ru M owm & auil @ wim w0 w0 g .
a4 AT TeE W T A |
SEPARATE
" (1) PARADE L~

(2) TREES

(3) TEARS

(4 ERASE

 (p) Je AEI ZAT ATEd
i Wm*mmﬁ.ﬁﬁmt

gluialin| 8l 6 5
t K e Y L

up "SarkariJob.in"

which

B8. In & local bus starts from city ‘A .
number of women is twice of the number of men
In the next station ‘B, 7 women get down and
11 men enter the bus. Now the number of men
and women is equal. In the beginning how many
passengers entered that bus ? '
(1) b4
i2) 1B
(3) 45
(4) 36
{5) Not attempted
57. Find out the word which cannot be formed by
using the letters of the given word.
SEPARATE
(1) PARADE
(2) TREES
(3) TEARS
(4) ERASE
(5) Not attempted
58. Numbers and their letter-codes are given in the
following table :
b | 817 | 2] 8 [ 85
Letter-Code| K | E | F Y | P L
You have to find out which option has the correct
coded form of the number group 8637.
) YRPE
- *w mPK
b‘@ YLEP
& YPI .
 Notatiempid
rtain code language, TRAIN js coded 25
en how will DATE be coded in that
5 “: )
v
)
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60.
(1)
(2)
(3)
(4)

(5}

61,
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fa=tafir i @ ats.m v e p?

45: 6

6G25:5

108: 4

42:4 L
I A EA =

uF weh) s oy w0 o s 3 FR, “am

ﬁﬁﬂtmﬁﬁﬁtl"ﬁfﬁmm‘ﬂﬁ
H O gay g 2

1)
(2)
(3
(4)

(a)

fem
=]

e
trﬂ'tl..-r""

M F i & wr A= frad oo om # | wem:

m“ﬁamﬁﬂﬁﬁwaﬁmwm_wﬁm

ﬁﬁ"%mm”mmmﬁ’—ﬁﬁuwam
#H fraem/fEm §

e

(1)
(2)
(3)
(4)
(6}

il 3 fafyad & |

Wil i fafgaf § |

R few dn

M mf fem fefzr 3 )
(I FF&“T‘G#I o
(M) T fafigaf fye § | L

T 113117 Py
aﬁﬂlmﬂlﬁﬁﬁi R
Fa® 1 fgmer 2
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60.

61.

62,

Find the odd one out,

(1) 48:6

(2) 625:0

(3) 108:9

4) 42:4

(6) Not attempted

Pointing towards a girl, Ankit said, “This girl {s
the wife of the grandson of my mother,”
Ankit related to the girl 7

{1) Father

How is

(2}
(3

Unele
Son

(41  Father-in-law

(6)  Not attempted

Three statements are followed by three

conclusions. Take the statements lo be true even
if they seem to be at variance from the commonly
facts. Decide which of the given
conclusions logically follow(s) from the given
statements,

known

Statements : Al rats are cats,

All lions are cats,

All deer are lions,

Conclusions : (1)

(11}

All deer are cats.
Some deer aro payq

(I Some cils are d"-‘Er

(1)
{2)
{3)

Only 11 and 111 follow
Only I and 111 follow

Only I follows
4

(5

Only I and II follow

Not attempted
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35, 46, 59, (x), 91, 110, 131
64

T4 \v—"

79

84

I FE N

(1
" (2)
(3
(4)
(6)

dta w3 O e § 43 | R, g s o b
Freea 1 41 2 | wrp, g & Prees o 4
2|, 9 & Gy &3 2 ) oA ofw d o
dar & 1 s o s s 4@ R (A s

(@) WL --?ﬂ-Mf"” 3P
@ gL g g Syt
(4) @ -

(5) I TEI 21 SRd

mmh%ﬁaﬁﬂﬁl%ﬂﬁﬂmﬁﬁﬁ

5 1 M
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65.

What is the value of (x) in the series ?
an, 46, H9, (x), 01, 110, 131

G4

74

79

B4

Not attempted _

(1)
(2)
(3
(41
(5)

Five "boys are silling in a row. Ravi is not
adjncent to Suresh or Anil. Anubhav is not
adjacent to Suresh. Ravi is adjacent to Mohan.
Mohan is in the middle in the row. Anil 15 sitting
at the end on the right side. Then Anubhav is
sitling adjacent to whom out of the following 7
Rawvi

Mohan

Suresh

Anil

Not attempted

(1)
(21
(3)
(4)

(5

You are a Finance Minister of any country. There
is recession in the economy of that country. What

best action would you take 7

UI?E#% | 39 FH-H AER F I8 ? (1) Try to get money from international
(1) - sieieda et @ VA TR e ] agencies.
@ W& yefaraen g w6+ fog Ir=d (2) Implement good financial policies to
A if .ﬁmﬁﬁ I enthance the economy of the eountry.
(2) @i &1 T 3= gE AR | (3) Divert the mind of the public to other
. jsgues.
(4) 3=g 2w | ud 33Ul oA & T ﬁﬁ I (4) Try to borrow money from other countries,
(5) zwe ¢l 31 =& (5) Not attempted
64, ﬁ::gf‘aﬁaﬁ T :lia'ﬂ'[ =5 qu # & forg CIERCUR 66. Select the missing numbers from the given
T i3 A wETAT W =49 Hifa | options that will complete the number series,
0,2,6, 7, 20,30,42, 2, 7290 0,26, 2..20,30,42, 7 , 72,90
(1) 18 3i 56 W 18
@ 12356 @ 128045
9 183 48 i
s (4) 12and 48
" 12 3y 48 (5) Not attempted [
M & e e SPACE FOR ROUGH WO r N
T < a3 forg T | kM’ AnS
Qi = F6H11 T 7 el K e
17 =
L 64

— e
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67. Facsfirfian & fir oz 90 A :1:1 |
(1) wirsn - ma \_~
2 fam_-m
@) i - wmg OF
4y =gd - sm

(5 T 7 = 9Ed

68, w fawey @) gfm 9 A oz @ 36 W i R

s wam gEn i R o B A
12:72::6:7

(1 46

(2) 28

@ 18

4) &4

(5) I = 91 9179

69. mfmﬁWﬁWWQMWmﬁm%

= m w aafm v g
!\[ma:M‘lm::Ppr:?

(1) RPpy__- pPp

(2) Rpr

(3) RpP

(4) Prp

(5) T 3 2 ey

70. TR HEA WO 3 oy

DUop g y
1 2 3 4 6 g

(1 4.3,2,5,14

2) 6,3,1,2,5 4

(@) 4.3, 1524 P
4 4.3.2,1,54

(5) T T 2

il foers srgem srr

67.

G8.

69,

Find the odd one out,

(1) Lyricist - Song

(2)  Farmer - Plough

(31 Labourer - Spade

(4)  Carpenter - Saw

(41 Not attempted

Select the option that is related to the third term

in the same way as the second term is related ¢,
the first term.

12:72::6:7
(1) 46
(2) 28
(3) 18
(4) 64

(5) Not attempted

Select the option that is related to the third term

in the same way as the second term is related to

the first term.
Mma: AMm:: Ppr:?
(1) RPp
(2) Rpr
(3) RpP
4) Prmp
(6)  Not attempted

Select the combination of
the letters arranged accordi
meaningful word :

DUOPI M
1 2 3 4 5 g
(1) 4,3,2,5,1,8
(2) 6,3,1,2,5 4
(3) 4,8,1,5,2,6
(4) 4,3,2,1,6,5
{6) Not attempted

“.umtmrg 20 t.ha.“
ngly will form
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L
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P 0 3 .
1 ERLEU AN B 11 VY sz fieen & o
T A wE % o i g b

(1) 9@ iy wim

(20 Feamy TIgaT
3 o= gqfefadim
{) tfn famm

(5) I TE T A

n e & JmEmE wweEn: Sdwe S s
FAEATE FATE IV Al § i |

(1) T waTTEAl w1 giEE w0 § wwas feama A
" §

@) 7 fefome Frard @ @9 #

@) 7 98 s F fau 3fd #

4) 4 wamEA & fom glaurs 3

(5) T ¥ 2 =rEd

N Eofofum 5 @ g8 FoA i ) & 90

Tl

T2.

What is the name of the software that is used for

maintenance and configuration  of Computer

Syutoms ?

(1) General Purpose Software
(21 Deviee Driver

'./

(4) Operating System

i3)  System Utilities

(5) Not attempted

Virtual keyboards or Online keyboards are

commonly provided by Internet banking websites

because

(_ (17 they allow users to type passwords securely
{2) they are faster than physical keyboards
(3) they can easily fit on small sereens
(4) they are convenient Lo the user

(5) Nol attempted

Which one of the following statement is nof

g 73.
LR
R R correct about Blockehain technology ?
N w uF =i 1§ §O BT #, fodt wmm et FH (1) Each block has some data called its header,
m k_,' m I]"E m mﬁ mqﬁ ﬁmi am t I “.hjch iﬂ ‘.ri_s.il)!{! Lo leur-‘l ﬂ'l.h(!r ﬂﬂde-

W Udhel "3 [ﬂﬂfﬂﬁﬁ} & fom, i (2) It is possible for a single member of the
T 71 2R § @EE H ot network to make changes or alter data.
lua"/‘*a?'l mrft ff =ts & i T/ TAE T (3) Only the owner has access to the private

TR W o data of the block.

Y S €127 o s e 3% B w1 (4) A bloek can be a secured chunk of data.

f

b - (5) Not attempted

Al I ff 1 amea = e
GH WORK
Paga 15 w5 wrd & forg 7T | SPACE FOR ROU
|
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75, s £ sgEmn tawj?c“ﬁ.'iﬂ}:ﬁﬂ"!ﬁqﬁ.ﬁﬁ
w f=fafar & & fem @ sfimn ®1 Fefm
7 e wm Y
(1) wEm = ShEw
(2) w5 ) = = AT
13) 2w @ 1 s
(4) T=arm w1 st
(5) W I
76. s Fatedn el aw 50
(1) i{mfm":ﬁh‘ﬁﬁﬁmﬁmaﬁmﬁm
AR B T e S
T T T
' mﬁmﬁ?ﬁﬁ@%ﬁmm
@ T i s s
ﬁmmmmﬂmmaﬁﬁi
MJ mmﬁ%mwﬁﬁﬁﬁﬁm
S 4 e
(5) W"'ﬁ%mm‘q
7. mhmﬁﬁgwﬂﬁﬂ%mm
wmmwﬁﬁm#mﬁﬁﬂfﬁﬂfm
™ ?
L/('I'J- L1401
(2) N
(3)  wETE
4) 77
(6) I 7 &9 =R

Join Telegram Group "SarkariJob.in"

£ fqauarg (e
trm fr ) T 9022 # L :
4. o unlam fe &
EE1E & w1 a3 #ERr
B a-rrlm{!i:qulqﬂsﬁ i
(1 “um

e i org

“srerazh fra, W FATE

(2) o
(3) “mwo ygam, /U 9

(4) i ¥ f A A

(5) 3IW A 2 <A

AMRA/C4/Page 16

74.

6.

o wrd  FOT% T | SPACE FOR RoLGH woRk

7.

7.

What is the theme of World Habitat Day for the
year 2022 7 ;
(1) “Mind The Gap : Leave No One and plae,
Behind” )
2y “Inclusive Development, Sustainabl,
Development'
L) “Clean Habitat, Healthy Habitat”

) “Inclusive Development For All”

(5)  Not attempted

The enforcement of which of the I'nIlu-.viug
Fundamental Rights cannot be suspended wher
a Proclamation of Emergencey (Article 352)

I8 in
operation ?
(1) Right to Equality
(2) Right to Freedom of Religion
(3)  Right to Personal Liberties
(4)  Right to Freedom of Expression
(5)  Not attempted

What is a reserved constitueney ?

(1} A conslituency in which only those politica

parlies cluiming to represent reservid
categories can contest clections,

(2) A constituency in which only members of |
particular reserved calegory can stnnd for
clections,

3) A constituency in which eleetions are hel:
following the principles gf Proportiona
representation.

(4} A constituency in which the voter |js
consists only of the memberg of & particyla
reserved category.

(6)  Not attempted

Whose tenchings and

pusthumnusu- written and 'i'pr:z:l!:;ﬂ “'t'!" E

followers in the form of Tripitaky » by hi

(1) Mahavir

(2)  Kabir

(3) Shankaracharyn

(4) DBuddha

(6) Not attempted

____—-""“-.__

2/
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. JfrfarariE v & 9
Mr.;f}-‘_rlr'rﬂf‘l i3 -5l 9T e

1y &femad (Cal
oy uEilEs (Al)
@7 ehimm (K
A (Fe)

(5) Ien df T TR

19, Pcfefgs & & FH-EA Fwm I XE W

qfads & @it § wH W2
(a ﬁmmmwm#ﬁﬁﬁmﬁgg’qu‘mﬂ
ag et |

(b) WﬁmmTﬁﬁmW@m#Wq
9T qeerd A8 A |
W*“‘mﬁﬁwmﬁémﬂm
e & e # I B ot R |
ﬁmmﬁﬂmﬁmwimqaﬁﬁq

(1) (b)) ()

(2) a4 (b)

(3) e (c)

\,44;/1a|?rﬂ1 c)

(5) IR ET oA =

le)

684 Tfia fren wen # o U4 4wl e

fadrdt w99 =1 qE=ww S| 7
(1) T

(2) ufrem sme

(3) T W
(4) wERE

(5) IR TE &1 =

81. .43 FMA?

rn
l
3
|

T8,

9.

i Award in the 68" National Film Awards ?
(1) Telangana
(2) West Bengal
(3) Madhya Pradesh
(4) Maharashtra
(6) Not attempted

81, Whatis GUI?

(_//ﬂ} Graphical User Interface

(2) Geographical User Identity
(3) General User Instructiot®
(4) Gaining User [nformatio®

Which of the following metals ‘18 mnderaw]-}'.
renctive ¥ 5 :
i1 Ca
(2 Al
t & K
4) Fe
(5)  Not attempted

Wh](‘h of ihl‘ 1‘“”“"-'.'“1}" *—'T.'Ih'rllul_‘ﬂhl-.. 18/ ar
- Are coTrect
about ('hi.ﬂl!-".t‘ of state of solid ?

(a) The continuous supply of heat at mels
. slting

point increases the temperature of the solid

(b) The continuous supply of heat at melting

o point does not change the temperature

of
the solid.

(e)

=

The continuous supply of heat at melting
point gets used up in changing state from
solid to liquid.

Choose the correct option from the codes given
below :

(1) (b)and (c)

(2) Only (b)

(3) Only (c)

(4) (a)and (c)

(5) Not attempted

Which State won the most Film Friendly State

(5)

Not atteM
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_ .  afta & FAEAH
B2, uftrp wpmgrer g @ Him A0E
9 fom wen iy ay amu R Y
UIES

(2) e
fafaen
a3

I AF T =

83, e, e st g (R’ s A s
e § 0

e mET i v
(21 5 w5z Ay
famm snfds dy
il FEm =~
I T 21 =R

(3
(4)
(5]

84. ﬁm@rmmmaﬁifm
I 6 R & A
L

for #fm-am gy
ST WTeT w1 3 am
(1) W‘ﬁHL‘-—""
(2) e
(3)

4 I=
B5.

sz s T i e
@ “mﬁmmﬂmmmwm
¥ (4) T8 e e AT 0 e e g

(5) I A T =

83.

A4)

82. Which art form derives its name from the

birthplace of the character Sita from the famoy,

1 ol
epic Ramayana '

(1) Gond

(2) Mandola

(3) Mithila

(4) Vanshri

(5) Not attempted

‘Maharatnas’, ‘Navratnas' and ‘Miniratnas' are
classification of in India.

(1) Public Sector Units

(2)  Mineral Rich Areas

(3)  Special Economic Zones

(4)  Civilian Honours

(5) Not attempted

What is the name of the international 5~
organization which fucilitotes cross-border police
todperation Lo comhat international crime ?

(1) INTERPOL

(2)  POLCRY

(3) SAFETYCOM

(4) NATO

{6) Not attempted

What is Anthracite ? 89

(1) It is a form of coal which is

SOft s
moisture content. " With high
(2)

(3)

Itis the highest Quality of )

) ard Cog|
It is the most Popular ¢gq) i
n

usg, ':D'"mer(.,- al

Itis a low grade brown coa]

(5)  Nol attempteqd

"AMRA/C4/Page 18
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35%
40%.1 \/_
25%

I TH G

. ;ﬁ:; tr?nem AT U Yk # 0@ T | 5w
@ T F A g e @ A e s e
T FT & i & s @
(1 2:3
(2} 5:9
Vra}"'?:s
4 1:3
(5) I TE Z AR

B TR =9 § 9@ 500 fEm i R, faaw uw wm AR
8% Y 9T =T & 9YT I 18% o G ASA R | ¥
f A2 § 37 14% @7 g & | 8% @ Wl w
S EIREI R

84,

bought goods worlth © 6,000 and sald half

A man :
10%. Al what pain pereent

of them at a gain of
must he sell the remainder 50 as 1o get A gain of

25% on the whole ?
(1) 30%
(2) 35%

J0%

25%

(5) Not attempted

Three equal cubes, are placed adjncently in a
row. Then the ratio of the total surface area of
the cuboid formed to the sum of the total surface
areas of the three cubes is :

(1) : 3

(2) 5:9

(B 7:9 y

(4) 1:3

(5

2

Not attempted

A merchant has 500 kg of sugar, part of which he
sells at 8% profit and the rest he sells at 18%
profit. He gains 14% on the whole. The quantity
of sugar sold at 8% is:

Join Telegram Group "SarkariJob.in" (3 Scanned with OKEN Scanner

2
. 220 femmm - 1) 220 kg
m: 200 R (2) 200 kg
. 180 fm 3) 180 ke
H: 300 fem (4) 300kg
S T d g = (5) Not attempted
ﬂl -

¥ 20,000 wqra W 2 Tl T 22,26050 ®gg = 20,000 amounts to T 22,260-50 in 2 years nt
Y, sl e i wditam g R1EE AT compound interest, compounded annually. The
. rate of interest is :
1 5ose (1) 525%
Ybse o (2) 55%
o
LS 3 6%

U (4) B%
TSJ

mh‘m o] T 3 S, (5) Not attempted

! ‘I‘“Pam W w7 wrd & forg | SPACE FORROUGHWORK o, /37
. 15e° <602 =y ,
0 ook T 337 A7 Iy

: L+] | o "' __,::); .,
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g.:h:(‘%: 90. l#agd-h"-*(:}'—uh-h-_t"*n then l
b i ). C IR

B0. TR 42 40 ‘c"-llb'u'ﬂ'u "

e i B e

o Ty 2y 1:2:1

@) 2:1:1 8) 2:1:1
3

4 1:1:9 4 1:1:2

(6) 3w =l 2 W (6) Not attempted

91. 10,000 % fweem #1 3 S A 2,3,4,5,69% 7|91 The two numbers nearest to 10,000 which are

& fanfen vt 8, B - ‘ exactly divisible by each of 2, 3, 4, 5,6and 7are:
(1) 9320, 10080 (1) 9320, 10080
(2) 9660, lm (2) 9660, 10060
(3) , 10340
10050, b (3) 10080, 10340
® T (4) 9660, 10080

(5) Not attempted

il;‘-a:,hﬂé?‘w'i'"m 92. The sum of all proper fractions whose
" r ; F
T, M'mluathan.urequalmlmis:

L -t .

M 1925

92. 1007 100 % w1 ¥ areh
ﬁu:ﬁ

® 1
“‘@ ] _-_-: —‘_ ) £ m “L--

-.’l‘w
.'H-.',.,
[~ -7
N

N

i

JE:
ol |
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o A OTIEOE w0 et g i3 g
@ B I0 FR D 6302 6w o s
v #1001 £ n rrafefn @) g

P, A tokes H hours lo copy @ S0-page manuscript

AR | ) while B can copy
iy hours would it tnke them (o

the same  manuscript jp

ERC I TH G |1!m|rn. How mi

for w2 TR, a2 ax 2 et RO e R copy n similar 100-page manuseript, if they work
M 9wz ltlj{l."fhi"r 7

(2 U? T2 (1) 9 hours

@ 14 W2 g ‘L/ (2) El-';i hours

(4] ﬁg e (3) 14 hours

(5) I TE 9 9 (4) Gg hours

. . (8) Not atlempled

i &l 3 0% = A ;2 30,000 7@ ¢ 50,000
Fm | 3 & ]

=" IR T 16,000 FY wH B3 1185. Two friends invested ¥ 30,000 and T 50,000 in a

Y FT ST 1-TT'T 3-_5"{-1 - Fiel FafF =77 business, They earned a profit of ¥ 16,000 at the
¥ T, 3T G F S d At v | e end of the year. One half of the profit was divided
fE-feemr &y foem 2 j";'fffw? {BX I? equally between them and other half was divided
Il 7 7.200,% 8.800 - ;_:_.g’ _"U‘;C—? in the ratio of their capilals, TTow much did each
, of them receive ?

T ¥ 7400, ¥ 8,600 o WReod

\_a: ' (1) ¥ 7,200, ¥ 8,800

W T 7,500, T 8,500 ¢ ?(E 3 [ (@ T 7400, T 8,600
[ a2
AT 27,000, 7 9,000 ri’f,/ (@ % 7,500, T 8,500

r 3 = 0

5 3 T rogart ¥ (4) T 7,000, 9,000 ’

g0’
(6] Not attempted

£ — ; -
® Tm e 100 fefl/da @ st @ @
12 e 7 75 frdi & =g 3 fimz & fou =196, An express train travelled at ap average speed of

b : 5 " )
T fa= @ 600 it Wi 3 AR W g & 100 km/h stopping for 3 minutes gfjer every
ﬂhﬁ:ﬂm Al & 7 B_,ﬂ 75 kg Sow Jonmtlid W take to reach the
m 0% o ﬁﬂ‘p/ '-_-é__‘;i—; destination 600 km [rom (he starting point

. . poin

) ﬁ'ﬂ"':‘zyﬁﬁz ;?‘; (1) 6 hours 24 minuteg
f 1 .

3 Eﬁé&uﬁng _ .0 (2) 6 hours 27 minuteg
I ™ u (3) 6 hours 30 minuteg

2 V
1 ¥ e (4) 6 hours 21 minutes
E*'*‘h_,{ % ?ﬁf?ramﬁ (5) Not attempted
—_—
w2 «@ o % foro T | SPACE FOR ROUGH WORK
i fe P ';1 l v
0 A P D ;
34 - ¥ N 2
( -6 7 Lk 1od )
s 1 RS Ju—y B
= A4
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or. R . 7wt G g & 10% % R @ W 4 |97, If o pumber x is 10% less than another number y

: Y and v is 10% meore than 125, then the value of x
2 A xwARS 3
1256 & 10% i 8 o oo : W
(1 14055 137-¢ :
(1) 140-56

(2) 143

(8) 150 (2) 143
W 187 L 3) 150

(5) ¥ T T e (4) 12875

(6) Not attempted

O75° 1075+ (075" +1) % 7 @ 771 R : g8, The positive square oot of

1-076 ot
m 2z OT5) | 1075+ @752 + 1) is:
1-076
@ 38 2
Vj,i] 4
@ 3
4 1
]
(5) = T @ 4
4 1

99. 15 YoW, 18 afgend sfe 12 M5$m = (5) Not attempted
us &7 & v 2070 s # | AR g, v A

& 1) b -
’hi 99. 15 men, 18 women and 12 boys working togethe
*U'ﬂ*% . im;‘ §:2v, 2 earned ¥ 2070 in a day. If the daily wages of «

1 78, 2 wfgema s a-*mﬂ”iﬁ'm (T ) man, a woman and a boy are in the ratio o

n" : 4 f? 8 : 2 ithe daily wages (in ) of 1 man
1 180 T 2 women and 3 boys are :
@ s <R (1) 1804
- i E W g (2) 205
13 240
- (4) 136

(5) Not attempted

-._1_ ,ﬂ?mm&tﬂdndmﬂﬂlﬂﬂhma’ﬂ {
~ such that A receives 25% more than B apq |
mmmmﬂ»hc’smh
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